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CEEP - 2006

Hall Ticket , Signature of

Number : the Candidate
Time : 2 Hours Total Marks : 120

Note : Before answering the questions, read the instructions carefully given on the OCMR
sheet. :

IS5 PHODH aTwwo [Froludd &ue OMR ot HEHs® aigadd dmisden el $ehod.

SECTION ~ 1 (MATHEMATICS)
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3 Find the mean of the following(frégnency distribution
1 Bocs mirwds Deipdg Doreisdn. g Wik Do
o~ " P

Class interval ot aa
86505 wossi | 0 0 39 |40-59 | 60-79 | 80-99 | 100119
Frequency { ',
B S i i i 4
{ -
1 48 (2) 4806 (3) 48.07 @) 49

4  Forthe data 4, 5, 6, 7, 8, 9 the value of mode is
4,5,8, 7, 8, 9 Gerothnd argrodin
(1)  Does not exist (@) (2) 6
(3) 6.5 “ 13
5 A M. =43, Median = 43.4 then Mode =

&0 ddeuin = 43, Weigrieo = 43.4 sond wtrodEo =
(1) 44.2 (2) 434 (3) 444 (4) 424
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6 For what value of ‘e’ will 7.5 be themed1an4 6,a 9, 10, 19
4,6,a.9, 10, 190&&&3@&»75@&6&2% a' B Jood
1 6 2 10 3 7 4 8
7  The AM. of 10 numbers is 7, A M. of 15 numbers is 12, then A M. of combined data
10 Somge AM. 7. 2084515 Sopge AM. 12 wand aind AM. Jod?
@ 7 @ 12 3 10 @ 15
8 (x—2)2(x+3)=x8—x2—kx+12:';k= _ .
1 2 @ 4 @ 6 4 8
: 3 _o.2
9 Lt .‘m2 3x“+1 _
x>1 9x° +8x+7 '
1 0 @2 1 @) 2 @ 4
10 The ratio that (4, 5} divides the line joining (2, 3) and (7, B) is
(2, 3). (7, 8) o gD Ty powrdy (4, b) Hocod Mol A3
() 2:7 @ 3:8 @ 7:8 @ 27
11 (-5, 12), (-2, - 3), (9, ~ 10) are the three vertices of a tnangle, Aercthe centroid of the
‘ tnangle is
(-5, 12), (-2, - 8), (9, — 10} Igrenrr 855 Babe ok Sogo
W (13,2/3) @ (3,-Y3) @ (43,4) @ (2/3, 4/3)
12  A(4, 5), B(2,-1) are two vertices G(l 1yis the centroid of triangle ABC the area of
triangle of ABC is
ABC @!e;iaes'“&)é G(1, 1) rotose §o@$o -A(4,’3), B(2, - 1) Bo&%mABC FFogo
a 5 ‘ (2) I @ 25 (4) 30
13 General equation of ‘any siraight line passing through ongm is
B Do rhoa Tk O reroe drddw ‘
(D y=mx+e 2 y=mx 3 y=mx-c 4) y+mx=c
14 If (\—{ij{‘ﬁ is midpoint of line joining the point (4, a) (2, 8) then the value of g is
{4, a) (2, 8) o 0% Bgr pod f¢ig Doy (—1, B) wowd, '@’ dewd _
1 4 @ 3 @ 2 ' (4) 1
16 P, @ R are the mid pomts of the sides of A ABC then the areas of ABC, A PQR are in
the ratio
PQR o ABC |8ee 5e0 50653 Doopo8" 3633 ABC PQR (8che: forgo dind
@ 1:2 @ 2:1 @ 1:4 @ 4:1
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16 The number of elements in A4y , 5 matrix

Q3 @ 4 @ 2 @ 6
T4 5 2 3
17 Az[e 7}’B=[4 5}"4—3: _
2 5 2 2 5 7 45
(1 [6 7} 2 [2 2] 3 [2 G] 4) [2 3}

18 cosze(l+ tanze):

@ 1 @ cos’s (3) sec?® (4) cot?e

19 tan8é=al/b, cosB=

a b . a ) F ) b
& aZ + b? @) a’ +b? @) Jaz + bt @ ;y?t:“% b2
cot cosecO+1
20 cosec O +1 cot 6

(1) 2cos® (2) 2sin® (8 Zrec?) (4) 2 cosecH

21 sin® A+cos® A+3sin® A - cos® A= :
»n 1 @ 4 ® 0 @ 2

a i .‘_/ -
22 A, B are complementary anglesisin® A + sin? B=
A, B o 30508 Sheren wowd Sin/A + sin® B =

(1 0 @1 @ -1 4 2
tan 36 | ¢et\78)
23 oot 65 tan 12
1 2 @ 1 @ 4 4 3
ok .
24 cogh= x, tané =
1+x
1 2x 1- a2 1+ x2
W T @ 1.2 @ @ =
25 xtanZ120 +4cos® 150 = 9, then the value of x.
xtan? 120 + 4 cos® 150 = 9 wowd x dovd
1 1 _ @ 2 ' @ -1 4 -2
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If A ABC ~A PQR, » A=50° then £ Q+ 2 R%

A ABC ~ A PQR &80t £ A=50°, sond £ Q+ £ R=

(1) 130° 2) 40° 3 8 (4) H0e
The ratio of two similar triangles sides are 4 : 9, their areas

2 3655 [Bghadno A8 4 1 9 wowd o Fromge K3

@ 4:9 @ 9:4 @ 2:3 4y 16:81

If R=5,r=238 are radii and d =6 is the distance between their centres number of
common tangents that can be drawn ' '
$y8 ogargeen R =5, r=3 o Sogren H06¢g 6o d = 6 @ond ¢ S)eroH Hoi®d aind 9y Spo
éog}rg .

! @ 2 @ 3 (4) 4

The point which satisfies 8x+ 4y < 11 is

D Doty 3x + 4y < 11 S S0y Hoipod ?

1) (-1, 4) 2 (3,4) 3 (1,8) 4) (1,\2\)
30 If a matrix is equal to its transpose, i.e. A= A’ it is called a __,f_on:.a\f‘rix. ' _

28 MBS (A) . D g0l SrBS (A) © SR8 (A= 4") e sr@8 . &rBS sotrh

(1) Identical (3¢5 &ordorr) : 2) Symmetrig (ﬁgﬁsy

- (3) Rectangular. (6gg SSOR) (4) Scalar.or.constant (Boeod)
3 2 1
31 A= 123 and B= then A+ B=
3 2 1 1 3
1 2 3 3 21 Q)
= .‘:’).)5 B = &6 \‘ ‘l :', &Dé

' 1 -1 1 |47, 1 100 |1 00

M =l 1 1 @1 @ o 10 @ “Zlo 0 1
32 . Value of sin® 30°¥¢0s?60° (ded)

(1 1 @ 2 @ 12 @ 38R
33 sin 8 scos2n /3=

NS 3-1 1-43
) 2) /3 (3 @ J3/2
2 2 2

34  tanl5°+tan76°= '

(H 4 @ 2 @ 3 4 1

coso ' cosB

35 + =

cosecO0+1 cosecH-1

() 2cos® (2) 2cotH 3) 2tan® (4) 2sino
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36 Inthe given figure, | ABC =90° and BD 1 AC if AB=5.7, BD = 3.8 and CD =5.4 then
the BC value is ' -
@aa@m& | ABC = 90° &dow BD1 AC, AB =5.7, BD =3.8, CD = 5.4 wowd BC deod

A

g0 D

pafr c

M 61 @ 71 @) 8.1 @ 9.1
37 In the figure given below | AOB =70" then the value of | ACB =?
6% Do | AOB=170"  wows | ACB = bes?
: C

1 70 2 60 @ 35

38 In the adjacent figure QPR =90°, PD GR then PD? =
€5 Ogos® QPR =90°, PD QR wowsts \Pﬂz

e '
(}.)f DR.QR 2 QD.QP 3) pr2 (4 DR.QD

39 Bisector of the exterior E of A ABC intersect BC produced in D then AB/AC =
ABC @ghessns® | A @, ering 8% S000006% Sp BC 9 rdR0Ds S D &° S0t AB/AC =
(1) BC/CD (2) AD/BD (33 AD/BC (4 BD/CD

40 The slope of the line ax+ by+c=0 is

. ax+by+c=0 o38p e
(1) a/b @ b/a (3 -b’/a 4 -a/b
CEEP-2006-D] 5 [Contd...
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IfAnB=A and Au B = B then
AnB=A4 38 Au B=B sond

(1) AcB (2 BcA 3 A=¢ , (4) None (D5 s=¢5)
-1 ’ - 7
If f(x)="— then fIf(x)]=
-1 .

f(x)=;—+7 wond FIf(x)]=

_ 1 : .
o = ® - @ = . @ -x

X b o

The median of the marks scored by 50 students in a 50 marks test is
50 Srtip o s $H5S* 50 2008 S5 Srdpe eree mieadsn. eaud S $Ehw Jood

Marksr

Aoy 1-10|11-20 |21-80|31-40 | 41-50
N°.-3§§§,f,“—,§§,‘§“ 3 12 16 14 | 5
(1) 25.75 (2) 26.76 3 27.75 4 28

The third term of H.P. is 6, sixth term is 9, then first term is
oy BAS" o He50 6, e xS0 9. wawid Baed Ho?

11 b4 ' 54 -10
O @ 17 ® s @ =
One of the coniputer language is ' _
(1) English (2) German (8) Freach - (4) Basic
SoirghiBS® aHRrhoS Bl Supgdsd g 3 =
() soha 2) =258 , (3\1 @on 4) =68

Length of one of the medians of the triafgle)'whose vertices are (3, 5) (5, 3) (7, 7) is
3, 5) (6, 3) (7, 1) o Sgrourr o (Bebesh 08 dugigrs Sp DED ,

M 2/5 @ 87 ® 3 @ Jz

What ratio at which the lifie joiziing the points (4, 5) and (1, 2) divides by x - axis
4, B) Sdaxn (1, 2) é)od)é;(' 0 mmlédﬁqa 2 MBS x-agHn Ao

(1) 25 2 52 & 13 - 4 14

In AABC, 4= (2%3) and inidpoint of EC = (5, 0) then centroid of A ABC is

ABC i38einds® A = (2, 3) Sodaxo EC a»ég,aom (5, 0) wouss® ABC (Bebestin Glog), Ko
O &oc‘.ﬁ\fm

'(1) 1,4 2 4,1 3 2,3 4) 3,2

Centroid of triangle is (4, 1), two vertices are (2, 3), (7, 6) then the third vertex is
Beped rBDTE Doy (4, 1). Bodh> 3giwe Hoogen (2, 3), (7, 6) wowd Kured AGH Do

1) 3,86 2 -3.6. @) -3,-6 4 3 -6

¥ intercept is —4/3; parallel to 4x -3y + 7 = 0; equation of such straight line is
y-o5dy —4f3 56 poddr. 4x ~3y+7 = 0  Shrossiwr dod Jp HREGmw :
(1) 4x-3y=4 2) 4dx+83y=4 3 3x-4y=4. 4) 3x-4y+1=0

CEEP-2006-D) ' 6 \ [Contd...
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51 sin(45+6)—cos(456-8) is

() 2cos® 2 2sin® @ 1 @ 0
52 Value of sin 240°+sin120° (dewsd) = _
n o0 @ 1 3 -1 B @ 2

53 tanO+sin®=a,tan 0 ~sind=">5
Eliminate 6 {§ » &ohodod)

W) (a®-b?)=16ad - @ (a%-5?)"-16ab

@ a?-b%2=1 (4) at+b2=1

54 Aperson walking 20 mts towards a chimney in a plane, observes that the angle of elevation
changes from 30° to 459, the height of chimney is

28 158 20 wdrbo PEsS* &8 B3 B 30°, 45° Sorg® S, e 65 By M ?
() 20//3m @ 20(V3-Um @3 10(8+1m @ 20m

56 Ifa, b,care AP. thenb+c,c+a,a+barein
a,bcoos@Edsanbre, cta,a+bw
() AP. eos@Ed 2 G.P. 5w @RS (3) HP Fos@Fdo@) AGP. wogio i

56 Input, output, C.P.U. constitute _______ parts of <t].;le\ 'camg)'u{;er.

(I) Software (2) Hardware (3 Memory: (4 Loops

2508, oSS, bh.oto SraurdotB 8OY_ | SWeg 80t derrren esotrd.

() >§6 @) 536 Y CNSTY O
57 If A, B are disjoint sets, then (D%wg $2g5) '

(1) AnB=¢ 2 quz(:ua (3) A-B=-¢ ({4 A_-B=A
58 If f={(1, 2),(2,3), (3, 4) W, &= 1(2 5), (3, 6), (4, 7)} then gof = - gof dosd

@ {6, 1, (2, s),,('-s m} : @ {1, 6),(2, 6), (3, 7)}

: @ {(, 5), (8, )5 43, )} @ {(5,1),(2,8),(7, 4} ‘
5‘9 Find the e ian 016 —4, 213, b/4, 716 .
' 6,4, 21.:,\):,, =716 5

® (wo @) 7/20 3 11720 @ 6
60 The weight of 100 persons is classified as below. Then the mean is
100 08 2o 8BS rhned® H50050d00, a0 i devd

Weight
oy @y | 60— 64 |65-60 | 70-74 | 7579 | 80 -84 |85 -89

Frequency
iyt 13 28 35 12 9 3
Q 725 2 70.25 3) 7150 @ 72
CEEP-2006-D] 7 - [Contd...
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SECTION - II (PHYSICS)

61 The core of transformer consists of
(1) Brass coil (2)  Aluminium coil
(3) Ferrite material ' (4) Rubber material
- Syre6 86" aidd
(1) =43 85 S (2)  sargdovo 84 Wi
(3) %8S Hergo ‘ @ oo sogo
62 The rays having maximum penetrating power are :
(1) a-rays (2) Pp-rays {3y y-rays 4y x-rays
SENE0 FSD o w50 80 8demen _
(1) o—-8Cwrw @) p-83wrew (3 7-86wo 4) x-86ww
63 A graph of radioactive disintegration plotted against time is
(1) Straight line (2) Parabola
(3) Hyperbola . (4) Exponential curve
BAGIr ¢rE)s JKOOBHNDL, SeHund s ADD T Hho '
(1) 28¢5y ' (@) dodpoabo
(3) o8 dodoaho ()  IEDENo0S Higo
64 A transistor consists of %
(1) 4 p-mjunctions (2) 3 p-njunctions (3) 2 p-n junctions 4y 1 p-n junction
ErPESt ad)d f
(1) 4 p-n z2ogd (2) 3pmneaogd (3) 2 P ogd 4) 1 p-nesogd
65 The number of free electrons are more in :
(1) Germanium (2) Diamond (3 Copper ‘(4) Plastic
Iy 0TS dopg AENHT Lob
1)  =ddk0 @) @%of @) on I
66 A satellite A of mass 'm' i?c- at a distance 'r' from the centre of the earth, Another satellit:
~ Bofmass 2m'’ is at a disbance "2r' from the earth, then the time periods are in the rati
A o el (BHgoe3N. 8S.4rSoido od r Erdod Syosd §55° BrurvBiod. MEE adikro B,
@33 2 m. 2 3irSoiio 08 2r Brdos® $)mrss S5es® BErOE 0. wand ) Sy S5 SPoBLe A
n 1:2 @ 1:4 (3 1:16 @ 1:2d2
67 In the last second of a free fall, a body covered 3/4th of its total path. Then the heigh
from' which the body dropped is
fogyrm Bos Skt 8 S D0 BEHS® Ando Er6os® 3[4 B Hod Potrmo H © HpH Jos
A 208 Bt HEFwd 7
() 9.8m (2) 196m 3 49m 4) 392m
68 When a body is thrown up vertically with a velocity of 39.2 m/sec, the maximum heigh
it reaches is
39.2 do/%. 108" 28 Iosadd Spd Boro MdY I
() 39.2m 2 784m (3 19.6m (4) 1568m
CEEP-2006-D] 8 [Contd..
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A wheel of diameter 8 cm describes 1200 revolutions per minute, The angular velocity
of the wheel is

8 0.2 argdo e 28 Sigo ARrds 1200 veron Sipod. sows u Sigo §dar Mo
D 4ok xrad/sec (2) 20 rrad/sec (3) 40 rad/sec (4 20 rad/sec

A particle revolves round a circular path. The acceleration of the particle is
(1) Along the circumference of the cu'cle

(2) Along the tangent

(3) Along the radius

4y Zero

2.8 520 HyFss Aot BEHBRPd & e dgdeo
(1) )grs+s 506 Bowd Hotwod.

(2) ) Bv Bowd sood.

3 avgs?ﬂgo Jowd dotvod.

@) Arggo

In a stationary wave, the distance between two consecutive antinodes;is .
28 8 SGorES® Both B ER06 Faro S Grdo ‘ |
(1 a (2) /2 @) a4 M) 3r/4

Velocity of light in glass is 2 x 10% m /sec. The refractive-index of glass is
rreres® s2oB 860 2 x 108 ./, rre S ko

2 3 e 9

O 3 @ 3 (3) 9 _ 4) 1
C.G.S. unit of magnetic field in \ian }ty is _ :

() Gauss @) Tesla @) Weber () Henry
017,08 B BB C.G.8. gm0

(1) =8 2y By () 6 @ >

The distances,of\iwo points on the equitorial line of a short bar magnet are e d and 2d
respectl vely. \"”he ratio of the magnetic induction at these points is _

28 S0 eb@?roé@ Bo¢ie 0By Body Dothiyeo éd)m 2 d &rdos® e, vonds® v Hotde
eaubﬁ"&oé (wGee ) '

(1) 8:1 2 1:8 8 1:4 4 4:1
76 If the length of a wire is doubled, the specific resistance of the wire
(1) Remains constant _ (2) Increases by two times
(3) Increases by four times - (4) Decreases by two times
0 80 D Do S, o DIK V6°G0
(1) gdorr Hodotn , (2) Bod B DD
(3 e Bt B (4)  Bod B &b
" CEEP-2006-D] 9 [Contd...

www.eenadupratibha.‘net



www.eenadupratibha.net

76  The units of magnetic flux density are . '
(1) Weber/meter (2) Weber/meter? (3) Weber-meter? (4) Weber-meter
VOO 0S WD oGS PO
(1) Reb/hes (2 Bb/hwb? () Fwb-6b2 (4) b-06

77 The units of conductivity are '

(1) Mbhbo-meter (2) Mho-meter? (3) Mho/meter? . (4) Mho/meter
TEPESRAHN Pl :
1) ar-dwd (2)  ar-Hwd? 3)  FIriess? 4) r/hed

78 The rate of electrical work done is called .
(1) Electric potential . (2) Mechanical equivalent of heat
(3) ILlectric power - (4) Electrochemical equivalent
558 50 B Doocaty?

(1) D88 PBI0S (2) ofctrods Soergosdn
@) g5 g () DB BRroS Soergosin

79 A uniform wire of resistance R Q is divided into 10 parts and all of them are connected
in parallel. The equivalent resistance will be
R Q 360 fo 28 85k 10 grmrodm Rf@EoD ed) erisined BEPOSBOT HogrSo {:'S?\Xw’n)‘\é 36‘650
() 10RO 2 1W0RQ 3 0.1RQ (4 G-01RQ

80 Among the following which is not an elementary particle

' (1) Neutron ' (2) Electron B « pa.r;tiéle\ (4) Proton
Bod TaS*® D@ Bmo 5206 ‘ 2 -
(h  drgeie (2)  doswD () o ¥wd @4 @

81 When a radioactive nucleus emit a beta paiticle

(1) The mass number decreases by o\m,
(2) 'The mass number increases o“x\on
(3 The mass number does not @iter:

(4) 'The mass number mcreams by two
&8 B3 88 So(igo a8 R\:mm{)&'e,?do Boros®
(1) 5803 dopgd® &5 KEPD0 SH

2 Sgo3 égmgé”\aé‘ Fdrmo WEXNLD

(3) (Sogord %ogiS” Ay B

“4) :Qﬁ‘*e:aﬁé/\éomgés Both @0 DEXD

82 The impurity to be added to silicon to make if n-type semiconductor is
(1) Boron @) Gallium " (@) Antimony (4 Aluminium
s n = dgo @ga‘:réom oﬁ?d‘)moﬁ)&l Feoddond o
(1) %8 (2) mdHeHo (3) wodlBrd (4) @wgmmc .

83 If'S'is the value of 1 M.S.D and 'N' the number of divisions on the vernier, then the least
count of the vernier is
'S 28 {arS o0 Jertso Joud, N BBYHE e Derriine Sopg wawd 301N EXKD §od
) NIS 2y NxS§S (3 S/N 4) S+N

CEEP-2006-D] 10 [Contd...
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A ball, thrown vertically upward returns to its starting point in 4 sec. Its initial

www.eenadupratibha.net

84
velocity is
28 DY Denre Kobeads 8 208 4 D, Shard 2aHeEdH Fohth: 385 oD 89 Fo
() 236m/is 2y 6mfs ~(3) 18.6m/s (4) zero
85 Ifa body is projecfed vertically upward from ground with a velocity of 9.8 m/sec then,
the maximum height reached by the body is
28 SH 9.8 D/ . B508° Do P8 J0DI 0 S Voo K0F I
(1) 49m 2) 98m (3) 19.6m 4) 392m
886 When a body moves with a constant speed along a circle
(1) No work is done on it~
(2) No acceleration is produced on the body
{8) No force acts on the body
(4)  Its velocity remains constant R
28 & Sygrss Srdo Bowd PO HB8° Snudsdit
(1) ord e 3 et
(2) HHS* deeo Sorks
3) D e poo B Do
()" @ 3o poorr aotod.
87 When a car suddenly negotiates a curve, then it is likely ﬁ)\fa!i:
(1) Forwards (2) Backwards
(3) Away from centre ‘ (4) ~Powards the centre
28 5oth T of HoDi (curve) Criads BAd oD BB &1 FHL B
(1) oo \ @ 3w
(3) NgigPHHSH drtiore ‘ ' 4) 45308
88 Among the following, the one that tids the shortest wavelength is
(1) Microwaves (2) Radiowaves  (3) x-rays (4) 7y-rays
51 800 arDS® B $60rs Pissin BB S&nd
(1) PDf° Scostvmy (2 BADr SSorfdwen (3)  x-8desnen (4) y-8cmduen
89 The wavel/egfg%j:h, of ultra violet-rays ranges between
' o8 Jot iR Eknine o B0 @5
(W~ 130 4 to 4000 & - @ 40003 to 75004
@) 7500 & to 1,00,000 & 4 10pmtol0m
40 Accordipg to Huygen's wave theory, the different colours of light are due to
(1) Differences in wavelength (2) Differences in the size of particles-
(3) The nature of the object (4) The size of the object
PR ot rodo Bsdo 208 SorbesH s°tmo
(1) &8on Sesinvos® dae _ (2) 2o H85rmdLSs® B
(B D erdo s (4) % Hodrmo e
CEEP-2006-D] 11 [Contd...
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SECTION - III (CHEMISTRY)

91 How many number of moles are present in 3.2 gms of NaOH (Mol. wt = 40)
3.2 riwe oo FrErB (sw zrdo = 40) abo %) Sorid Arde Sopg Jod?
(1) .0.08 2) 0.008 3 08 4 125

92 If 25 gms of NaOH is dissolved in 250 ml solution, what is the molarity of the solution
- 25 prdwo NaOH & 250 2.8, rixoor 30 & (o arerdd dos?

() 025M (2 0025M 3 25M (4 0626M

93 The formula of Epsom salt is
. R Ode0 FERor

(1) BaSO, (2) MgSO4 7THO (3) MgCOg (4) CaSO, 6H50
94 If 4 grams of NaOH is dissolved in 16 grams of water, find out the weight percent of the
substance '
4 grdwo NaOH % 16 yrswe Hs® 6n0Dd, ord g8 mesin Jod?
L 50 (2) 25 3) 60 @ 20

95 Find out the weight of sulphuric acid present in 500 ml of 0.5 m solution
500 .8. 0.5 m e85 widyo [riod® o B gt Jod? [
(1) 245gm (2 245gm @) 12.25¢f 4) 18.37gm

96‘ Which molecule shov_vs 1: bOnd ?
Su35* 7 w00 S ey 282 ‘
(1) HCl (2 BeCl, {3 Coy 4 CH,

97 Number of unpaired electrons preseg/m the Nitrogen atom in its ground state are
aﬁr;g'o»ci‘ DS 2] HBrenHS® Ko po0d JogTSe Jogyg
@ 5 @ ™ @ 2 - 4 3

98 Lightest meta&l dmhodg the following is
s BoBTIS® BT &) St |
(1) Na 2 Ca 3 Mg 4) Be

99 Eka aluminium predicted by Mendeleef is '
(1) Scandium (2) Gallium (3) Germanium _ (4) Tellurium
$0sdT atrodS Jsr warglabo & [Bodads® J0?
(1) -+ o800 (2) rmdHovo @) =Govo - {4)  Berdoo

100 The no. of electrons présent in the penultimate shell of magnesium atom is
Dfyhoso HErappSt g 48 Frow8 Do) 48 Frows® o JogHe Howg
1 2 @ 8 (3) 18 4y 32

CEEP-2006-D] . 12 , [Contd...
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101 Which of the following molecules show trigonal bi pyramidal shape ?
&3 808 T3S® D estwDH Bt TS wE)B S ?
(1) PCl, @ NH, @ PClg 4) PHq
102 Which of the following molecules is a non polar in nature ?
DIS® excs yre)s e D67 S ‘
(1) H,0 @ HC (3) Sg . (4 NH,4
103 The property of the element which decreases as the atomic number increases in a period.
(1) Non metallic property (2) Electronegativity
(3) Atomic radius (4) Oxidising capacity
Lt DS LOCHES® Huhrm dogg WOA E0B &R GEL
(1) s g _ (2)  om Sogereyss
(3) dodren ogrgin 4) obyoe Drdogein
104 If the outermost electron configuration of an element is ns2, it is
(1) Transition element (2) Alkali metal .
“(8) Alkaline earth metal (4) Representative elemeft
a3 S6Y805°Q QogS Jrgo 152 eondpE ¥ furodo
(1) 50569 oreso @) wpd ny
(3) setiyds S0 ' 4 3% waroge
105 Mention the colour of the solution of NaOH, when phehophthalein indicator is added
(1) Yellow (2) Orange 3y Bidk 7 (4) Green
NaOH (rxsivnsss g rDsim S0 D636 ors Sa?
1) s @ wboz (8) oD @) esns
106 Allotrope of carbon among the :gjowmg
(1) Propane (2()/ Hithene (8) Coke - (4) Ethane
&1 BodardS® 58S draroddy ' _
(1) @8 @) &b5 @3 s% 4) &@S
107 Carbon ei;mp,‘éunds which react with Tollen's reagent -
(O _Aleohol (2) Aldehyde (3) Alkane (4) Alkene
508) 56808 SugEmoth S Hyeto
(I wopats 2) ushrs B o5 4) &5
108 "No two electrons can have the same value for all four quantum numbers.” It is given by
- (1)  Hund's rule (2) Paulis exclusion principle
(3) Aufbau principle (4) Planck's theory
“BRBH 230h JOFITOLH Tewh 5300 Jogre Jwvden w8B BodDH" . ©d BOCHEIY LD 67
(1) 0B datdndw 2) O30 drgo
(3) 5T argin (4) 205 Bgrosin
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Mention the total number of electrons present in the P—orbital of the atom, having atomic
number 15.

Dehrm dogg 15 Ko resd DEHPERS'D P-udyrgs® o Swdo DOF9R dogg

1 3 @ 9 (3 2 4 5
Mention the class of compounds that form, when metallic oxides react with water
(1) Acids : (2) Bases ,
(3) Salts (4) . Neutral solutions
&' uFyBeo IS EBA DY Sorgimen o HEEvdH Boddo? ‘
() esvdven L (@) s
B3) odadven )] S6 (ressive

The valency of carbon in carbon compounds is
SEYS 0G0 HPYoS® SE)T HoaIresS

(n 2 . 2 3 ‘ @ 4 ' 4 5
The crystalline allotrope of carbon among the following is \-
(1) Coke (2) Lamp black (3) Carbon black () Diamond
52 800 IS* 5768 T8, )8 BrroSEEw

(1) & (2 b&drosssn . (B) =Oypad 4y s
The type of coal which gives large amounts of heat is

(1) Lignite . (2) Bitumipsus coal

(3) Anthracite coal @ C\O\kﬁ

& (808 FIS" ) SERH 57D wHs I8 TPod? ) ,

) ops | @) DEOLLIS 5D

(8) wolE S S°h i (4)  Hob 5D

Removing the impurities and pettralising the cane sugér juice is called

(1) Defecation (2 'Sulpbitation (3) Dehydration (4) Carbonation

BOO 606° &) DOTSEY E'oNoDd DL Srd) SuRSOOH G¥ JOD?

() 885 @ oyEas @) &p@aS | (@) woydeS
115, The egmipounds which exist in the liquid state at room texﬁperature are

(I Pils - (@) Fats (3) Soaps (4) Detergents

50 STES 5 BERBS* doth dorgren _

(1) &r3ew (2) FiRgw (@)  Dewyoo (4)  Soprdoon
116 Among the following elements, on their atoms show exactly half filled d-orbital

(1) Vanadium (&) Zinc (3) Chromium 4 A_luminium

Bob furoses® pddor o oD d-ub)trd S ros dorgin 362

(1) &d&aXo (2) 0§ 3) E*vaxo (4) worgdoo
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Azimuthal quantum number was proposed by

(1) Niels Bohr (2) Lande
eBinES 500N Sopgiy RSO ity
1) 3556 2) ood

Alkenes undergo the following reactions
(1) Substitution reactions '
(3) Condensation reactions

by Sew g sstgen

(1)
G

©B80e Stgeo
BB Sgen

Denatured spirit contains

(1) Pyridine (2) Sodium metal

 esddmis 203656‘ GOty :)aogm

120

CEEP-2006-D]

(1) %885 Q) FBovo Stirdw

Soaps are
(1) Salts of fatty acids
(3) - Fatty alcohol sulphates

deayen
(1) s siro @, odaro
3 >4 VS ééo)e.noo

3) Pauli (4) Sommerfield
(3)" 20 @ Fabhg

(2) Addition reactions

(4) Elimination reactions

(2) 'éoéoérﬂscssm

(4)  SgBson St

(3) - Formic acid (4) Aldehyde

@ FoSemsn (@) o9y

(2) Tﬁesters of giycerol and. fatty acids

(4) Fatty aleohols

@) - Bowwdat ¢ vire G Bibeo
() aref veprden
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